

Termes Manquants (H)

Remplissez chacune des espaces ci-dessous avec le terme manquant approprié.

$$\underline{\quad} + 6 = 8$$

$$8 + \underline{\quad} = 13$$

$$\underline{\quad} + 2 = 8$$

$$2 + \underline{\quad} = 7$$

$$6 + \underline{\quad} = 11$$

$$8 + \underline{\quad} = 14$$

$$\underline{\quad} + 2 = 6$$

$$\underline{\quad} + 6 = 13$$

$$3 + \underline{\quad} = 9$$

$$3 + \underline{\quad} = 8$$

$$8 + \underline{\quad} = 12$$

$$\underline{\quad} + 2 = 6$$

$$\underline{\quad} + 4 = 6$$

$$2 + \underline{\quad} = 7$$

$$\underline{\quad} + 8 = 10$$

$$4 + \underline{\quad} = 12$$

$$5 + \underline{\quad} = 11$$

$$7 + \underline{\quad} = 15$$

$$3 + \underline{\quad} = 10$$

$$3 + \underline{\quad} = 5$$

$$\underline{\quad} + 3 = 11$$

$$6 + \underline{\quad} = 9$$

$$2 + \underline{\quad} = 7$$

$$\underline{\quad} + 4 = 12$$